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Philadelphia University Faculty of Engineering
¥ Dep. Of Mech.Eng 2% Exam: A,2% sem. 2015
Statics (620211) Dr. Nabil Musa
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Name: ...
Serial number; ...

Section: ...
(5 marks)

Quistion 1

Determine the resultant couple moment acting on the plate shown in figure.
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Quistion 2 (7 marks)
Replace the concentrating loading by an equivalent resultant force, and spcify its location

on the beam measured from point A.
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._Question .3 (8 marks)

Determine the reaction support at points A and B for the beam loaded as shown in figure.
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